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Is it not because he agrees with Rabi Yossi Haglili

OVERVIEW

The X713 cites a Xn*72 in which 1197v "1 maintains that if an ox killed a person 7xm2
P17, the owner must pay 7913 whether the ox is a an or a 7¥12. The X713 continues
that the way to understand this ruling of v"9 is if he agrees with "7 who
maintains that a on pays a 7913 *¥r in the 1"77." Our MpOIN explains the need for
v"1 to agree to A" in order to be 2nn a on to pay PI°A7 XM QYW 9.

nooIN asks:
= 913) 99 5‘,7): z’b’b)ﬂ DY 249 XY 199N 9NN ON)

And if you will say; v" can derive from a 1''p that a on pays a 07>w 191 in the

P1°17 X, even without agreeing to A''7199, the 1"p can be made even if a on does not pay
9912 °%11, as follows -
- 319\’) D5 ND 197 0HY 9915 PN 48N 122N D291 NIV PIVT DI W N

And what if by 9" who are exempt from paying in 9''719, nevertheless pay a

25w 1212 in the P17 92m, so 9P which is 7"7772 21 is certainly 2»na 2gn2 oYW 991
P!

MDOIN answers:

TINNY 9P Y195 7Y 91D KY 03290 NIV 90971 P13 P PIYN 9913 15D ONT 1YY W
And one can say; if 9212 was different from the laws of other damages, since
the on is completely exempt from 1913 in the 2'';19, it would not be possible to
maintain such a'"'p.>

" will then make the 1"p as follows (presuming that he also maintains 1177 7812 7312 1915 w°); if 937 which is w»
1"772 (even from 9912), nevertheless pays pri qxna 02w 919, so 1P which pays 2"772 1915 *¥n (like 3"77°9), should
certainly pay 07w 913 in the pri7 2xm.
? See “Thinking it over’ # 1.
? See “Thinking it over’ # 2.
* We are now assuming that "1 disagrees with 3"/ and there is no rule of 1913 *¥11 by an (in the 1"77). This places
7910 into a separate category of damages, since there is no 1"7772 7913 "1 by 17p, but there is P11 *¥n by 179 in the
1"77. See ‘Thinking it over” # 3.
> We will argue that the fact that 177 is more 271 than 2" only allows it to have those mAmi of 1" that are in the
category of 1"7172 17p, which are regular damages, but we cannot derive that 777 should have those nmm1 of 2" w
(such as 7910) which 17p does not have at all in the 71"77 (since we are now disagreeing with 3"7>7). The fact that
there is no 7913 °¥17 in 1"77, as opposed to P11 ¥, proves that the laws of 7913 have no connection to the laws of 1P
However once we agree with 3"71 that an 179 pays 2"7112 791 ¥ we can make the 1" that it should pay 27w 7913
P13 %3, since 17p has this category of damages in the 1"771 as well.
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SUMMARY
We could not make the 1"'p if there was no 1"7772 7912 *¥m.

THINKING IT OVER

1. According to naoIn question (that there is no 2"7712 1913 *¥n),° we can argue 7
that 1177 7x12 there will only be 7913 X, for this is a case where it will not be
1"P 7791 if we say 1’7 (since without the 1" there would not even be 1Xm12 7913 X1
p)!’

2. mooIn makes the 1'p that if 772 pays 1"772 it should certainly pay 9¥m2a 9912
»r171." However we can refute this 1"p by saying m°21 07X that he is 7"712 21 and
nevertheless does not pay i1 1xma 112!

2. Seemingly even if v"1 does not agree with 3"57,'" there still can be a 1"p for 1P
to pay PP q¥n2 2w 912, as follows; if by 2" there is never any 2"772 991
(under any circumstances), nevertheless they pay 117 93¥n2 %2 1912 for even the
first offense, so by 17 where there is 1"1772 2w 1910 (if the W is a 791m), it should
certainly pay prin qxn2 o%w 9915 (even) by the first offense (when he is still a
an)!!!

® See footnote # 2.
" See TN WM XN # 88.
8 See footnote # 3.
? See TR R"WAN.
10°See footnote # 4.
' See X"wmny X102 RATIAN.
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